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CBSE Class 12 Chemistry Qs Paper 2011

Gt 56/1/1

Series : SOS/1 Candidates must write the Code on

Roll No. the title page of the answer-book.

e et e H IR-TRAH & G-I
R ey fod |

Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.
Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the student will read the question
paper only and will not write any answer on the answer script during this period.

P A H o 6 T - W YT T 12 € |

T¥H-T3 | e T 1 31 f{u 1T e TR i 91 SW-1Raw F [E-rR ) g |

FIT 5179 Y b G WeH-TT W 30 YA F |

FUGT Y HT I Foraan 3 T F 92, WA T e A o |

T TH-T3 TG o FT 15 e o1 w9 Iar v & | wee-uE o TR qere § 10.15 99 fm
SR | 10.15 991 & 10.30 99 7o BT e 9-T5 i U371 2R 39 HaY % IRE 3 IT-qRaH
T HIE IR Tel ferat |

CHEMISTRY (Theory)

[EA G @ @)

Time allowed : 3 hours | [ Maximum marks : 70
Fraffia @7 : 3 972] [ 3 : 70

General Instructions :

S56/1/1

(i)  All questions are compulsory.

(i) - Marks for each question are indicated against it,

(iii)  Question numbers I to 8 are very short-answer questions and carry 1 mark each.
(iv)  Question numbers 9 to 18 are short-answer questions and carry 2 marks each.
(v)  Question numbers 19 to 27 are also short-answer questions and carry 3 marks

each.
(vi)  Question numbers 28 to 30 are long-answer questions and carry 5 marks each.

(vii) Use Log Tables, if necessary. Use of calculators is not allowed.

1 [P.T.O.
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(i) |t ifEr § |

(ii) TP T & A HF T TE |

(iti) Fv7-T=aT 1 T 8 7 T o7g-5eR1T 7oT & | Hede qo & forw 1 e d |

(iv) ToF-HET9 T 18 TF Tg-3TIG Y7 € | FAF FoT F o0 2 $% & |

(v) TET-GEIT 19 T 27 T o TY-FTRIT T & | Heeh To T & 70 3 S &
(vi) TET-GET 28 T 30 G- HFT & | Fedew JoH & om0 5 3F & |

(vii) STATTHATIR T 2671 7 FIIT & | depeiz] @ 39T B SFHlT TR & |

‘Crystalline solids are anisotropic in nature.” What does this statement mean ?

‘foreia 3 Ty fauRRF e € I’ TR H e argd g ?

Express the relation between conductivity and molar conductivity of a solution held
in a cell.

¥er  ford 7t fereram @t Tretepdn 3R Ao Sear & Gawy i T iy |

Define ‘electrophoresis’.

ST T HeeTT” (FATEIERIG) T8 1 afownfr e |

Draw the structure of XeF, molecule.

XeF,, 37] ot ST smfad F |
Write the IUPAC name of the following compound :
(CH,), CCH,Br

ﬁﬁﬁﬁlﬁ#ﬁa@m(lUPAC)w%—lﬁaﬂ:
(CH,); CCH,Br

Draw the structure of 3-methylbutanal.
3-ARe et Y TET STRRET T |

Arrange the following compounds in an increasing order of their solubility in water :
C¢H,NH,, (C,H,),NH, C,H,NH,

frrefeafiars firent =t 1ot <71 o agell GERiieT & STHR T e Hifd :
CH,NH,, (C,H;),NH, C,H,NH,
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What are biodegradable polymers ?

Hg-friehd TgE T e E 2

The chemistry of corrosion of iron is essentially an electrochemical phenomenon.
Explain the reactions occurring during the corrosion of iron in the atmosphere.

TR T WEROT SR: U SHIRIchdhel BT € | 39 Jtahhaett &t fafae s ammeRor §
HTFRA & WRIROT o T gt § |

Determine the values of equilibrium constant (K) and AG® for the following
reaction :

Ni(s) + 2Ag" (aq) —> Ni**(aq) + 2Ag(s), E°=1.05 V
(1F = 96500 C mol )

Frr7 afafiran o ford amer R (K ) 31 AG® o W= 31 ST i -
Ni(s) + 2Ag" (aq) —> Ni**(aq) + 2Ag(s), E°=1.05V
(1F = 96500 C mol )

Distinguish between ‘rate expression’ and ‘rate constant’ of a reaction.

ot afisfema o ‘R =9’ ol ‘R s § 9g @e &It |

State reasons for each of the following :
(i) The N-O bond in NO; is shorter than the N — O bond in NO; .
(i) SF, is kinetically an inert substance.

OR
State reasons for each of the following :

(i)  All the'P-C/ bonds in PC/5 molecule are not equivalent.

(ii) Sulphur has greater tendency for catenation than oxygen.

FrrAfetfiaer ® | weddh o ST feifisd -
() NO; #N-O 9% 7= NO; & N - O 94 i ohalé § &7 &l ¢ |
(i) S v Fiftea aam & | |

3 ' [P.T.O.




EDUGROSS

WISDOMISING K

13.

www.edugrooss.com

NOWLEDGE

fFrafeafes 9 9 us =1 srot fafieg
() PCly 30 H |41 P-C/ 374 Toawdl el € |
(i)  STTRIISTT hI ST WEHE T YLH] 2jEger= vty SRes & |

Assign reasons for the following :

(i)  Copper (I) ion is not known in aqueous solution.
(ii) Actinoids exhibit greater range of oxidation states than lanthanoids.

T YA &t s o fafao
(i) T fgera § SR (1) 37 7=t few |

(i) AETEEl i eden tfEeniTs 3ifues oty o suwas s welSa e

14.

13.

16.

56/1/1

Explain the following giving one example for each :

(i) Reimer-Tiemann reaction.

(i1) Friedel Craft’s acetylation of anisole.
Ut % ford U-UeR 32T &9 gu Frafaliae @ sawen Sk

1)  IR-Zme aatafea,
(i) WFESH-HIFE & UTHre s e |

How would you obtain
(i)  Picric acid (2, 4, 6-trinitrophenol) from phenol,

(ii) 2-Methylpropene from 2-methylpropanol ?

STT ¥ YT T

() W @ T ot (2, 4, 6-2EATSEwA),
(i) 2-AfemtETe 8 2-Hiemidae ?

What is essentially the difference between a-form of glucose and B-form of glucose

Explain.
TR % -8 3R B-FT T T SAEvaeh 3R el § ? THIE |
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18.

19.

20.
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Describe what you undersiand 0y pruiary SUUCLULS aiu dSTLULIUALY Suuutuiy Ul
proteins,

IEHT @t wratas GeEeT 3R e G0a / 31T 51 993 ¢ 399U FieT |

Mention two important uses of each of the following :
(i) Bakelite
(i) Nylon6

frfefad o € vt & gi-g) sudi fafed
(i) el
(i) TAEEAH 6

Silver crystallizes in face-centered cubic unit cell. Each side of this unit cell has a
length of 400 pm. Calculate the radius of the silver atom. (Assume the atoms just
touch each other on the diagonal across the face of the unit cell. That is each face
atom is touching the four corner atoms.)

Faear weteh-hi-set o1 e e o foreeford &iam & | 39 3 Oet & Ue o & aig 400
pm ¥ | faeer s =t Brear =1 aftwem s | (98 99 9t fs 3fe 99 % T W
fershut GIRT URAIY] Uek SN Sl W I & | 3T THeTohl ILHTO il aTe SIRT GRAT]3AT ol R
FIATE 1)

Nitrogen pentoxide decomposes according to equation : 2N,04(g) —> 4 NO,(g) +
0,(g). '

This first order reaction was allowed to proceed at 40 °C and the data below were
collected :

[N,O5] (M) Time (min)

0.400 0.00
0.289 20.0
0.209 40.0
0.151 60.0
0.109 80.0

(a) Calculate the rate constant. Include units with your answer.

(b)  What will be the concentration of N,O; atter 100 minutes ?

(¢) Calculate the initial rate of reaction.

5 [P.T.O.
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eI 2raRTee fveT teheor o o femfed giar e :
2N,04(8)—> 4NO,(g) + O,(2). |

Ig Sfsrar wuw ®ife i & | 39 wuH wife @t sfafrar @t 40 °C W 89 fgar mar ik wrE

e f yeR 9
N,Os] (M)  wwa (o)
£ 0.400 0.00
0.289 20.0
0.209 40.0
0.151 60.0
0.109 80.0

(a) o Fenis ufiewfea st | 3w & gfae +ft fafigy |
(b) 100 Fz o war N, O i SigoT =1 80Tl ?
(c)  fafsEn B uRPEE X aRelew S |

21. Explain how the phenomenon of adsorption finds application in each of the
following processes :

(i) Production of vacuum
(i) Heterogeneous catalysis
(iii) Froth Floatation process
OR
Define cach of the following terms :
(i) Micelles
(ii) Peptization
(iif) Desorption
s st i et wepdl o sifteiiaor (adsorption) st BT S SFANT S B § 7
(i) fratdF saRaH |
(if) Tormmit SEROTH |
(iii) 3T A TR H |
arerar

56/1/1 6
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v et ug i aReie i ;

() e (Micelles)

(ii) IeeoT (Peptization)

23,

24,

56/1/1

(i) feremrsor (Desorption)

Describe the principle behind each of the following processes :
(1)  Vapour phase refining of a metal.
(if) Electrolytic refining of a metal.

(i) Recovery of silver after silver ore was leached with NaCN,

ot WP & ST Rl oy o T

(i) Ferelt ey =T aToT e S ARROT |

(i) forddt arq =1 g et afesRRoT |

(iii) NaCN & @y fawan s19%h o e i o SYRI Fawad i W1 e |

Complete the following chemical equations
(i) MnO, +C,0; +H*—>
(i) KMno, —2e8ted,

(iii) Cr,02 +H,S+H*—>

fer Tt iR @ ot 9 ferfaa
(i) MnO; +C,00 +H*—>
(i) KMnO, -cated

(iii) Cry02 +H,S+H*—>

Write the name, stereochemistry and magnetic behaviour of the following :

(At.nos. Mn =25, Co =27, Ni = 28)
() K, [Mn(CN)g]
(i) [Co(NH,)s CI] CL,
(iif) K,[Ni(CN),]

[P.T.O.
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(4. %. Mn = 25, Co = 27, Ni = 28)

@ K, [Mn(CN)]

(i) [Co(NH,), C/] CI,

(i) K,[Ni(CN),]

25.

26.

27,

56/1/1

Answer the following :

(i) Haloalkanes easily dissolve in organic solvents, why ?

(i) What is known as a racemic mixture ? Give an example.

(iif) Of the two bromoderivatives, C,.H;CH(CH;)Br and C,H,CH(CH,)Br, which
one is more reactive in Sy 1 substitution reaction and why ?

frerforfiaa & sox S ;

(i) ok ST foeaen! & TRord & i 5o St € 2

(i) YW (racemic) fsyor fopd wved € 2 T0e U 3eTRR0T ST |

(iif) % = s =g, CgHCH(CH,)Br 3R CH;CH(C4Hg)Br & | I Sy 1 HieReme
foran ¥ afere Wiera BT 3R 41 2

(a) Explain why an alkylamine is more basic than ammonia.

(b) How would you convert
(i)  Aniline to nitrobenzene
(i1) Aniline to iodobenzene ?

(a) wHEEd T SYmifan ot SYUeT U Uoshrget UHIA Sffueh e =l gt & 2
(b) 319 FY BN P

(i) Uit B TRgERTE
(i) T it sTFeEIE | 7

Describe the following giving one example for each :

(i) Detergents

(i1) Food preservatives

(iii) ‘Antacids

frfefiaa & @ vclies 1 Ueh-Ush SR A BT ST GUH hifoTd :
(i) 39 (Detergents)

(ii) @R (Food preservatives)

(iii) T=afge (wfq3) (Antacids)
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(a)

(b)

(b)

(@)

(b)

(a)

(b)

(b)

www.edugrooss.com

Differentiate between molarity and molality for a solution. How does a change
in temperature influence their values ?

Calculate the freezing point of an aqueous solution containing 10.50 g of
MgBr, in 200 g of water. (Molar mass of MgBr, = 184 g)

(K for water = 1.86 K kg mol™!)

OR

Define the terms osmosis and osmotic pressure. Is the osmotic pressure of a
solution a colligative property ? Explain.

Calculate the boiling point of a solution prepared by adding 15.00 g of NaCl to
250.0 g of water. (K for water =0.512 K kg mol™!,

Molar mass of NaC/ = 58.44 g)

ferd! faeras =t dierar 3R Hiddd & &l 37X W ST | 97 & S5 & 9y
%1% A $4 uRafda aa £ 2

200 g <1 § MgBr, ®l 10.50 g AT e § A AT [SoraT ST § 36 e
aftahferd ST | (HIeR 52mM (MgBr,) = 184 g 31t K, (F7) = 1.86 K kg mol™)

YT

mewWﬁvﬁmﬁﬁW1wmﬁaﬂaﬂmmw
HOTHEY O B Y ? TR |

250.0 g 16T ® 15.00 g NaC/ 9o @ 5 forera= S9aT & SEaT 9eHis J1g S |
(K, (3e7) = 0.512 K kg mol~!, NaC/ 1 HleR 549 = 58.44 g)

Give chemical tests to distinguish between
(i) Propanal and propanone,

(i) Benzaldehyde and acetophenone.

Hdw would you obtain

(1) But-2-enal from ethanal,

(if) Butanoic acid from butanol,

(iii) Benzoic acid from ethylbenzene 7

OR

9 . [P.T.O.
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(a)

(b)

(a)

(b)

()

Describe the following giving linked chemical equations :

(i)  Cannizzaro reaction

(i) Decarboxylation

Complete the following chemical equations :

@CH:CHB. KMnO,
i >
0 KOH, heat

COOH S0Cl,
(ii) | Wtiioe N
cooH heat
| H,0*
(ifi) C,H,CONH, ——>
heat
forrfertiae W st o et et aie fafied
(1) Wee 3R T

(i) F=iceerss 3R THRIEHA T |

Y T F
() THT W Fe-2-7,
(i) A W AT T,

(iil) ofterasiia 9 Swiger a7 2

ST
e, TR GHIERT S0 §T e s quis i ;
(i) iRt st

(if)  foepatettsheor (decarboxylation)
freffer Tt QAT St T
,_ @r(}bc}h KMnO,
1 >
() KOH, heat
~COOH 80C/,
(i) ‘ I
COOH heat
H,0*

i) CH.CONH, ———
(i) 3 : heat

10
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(a)

(®)

(b)

(a)

(®)

Explain the following :

(i)  NF; is an exothermic compound whereas NC/; is not.

(ii) F, is most reactive of all the four common halogens.

Complete the following chemical equations :
(i) C+H,S80, (conc)—>
(i) P,+NaOH+H,0 —>

(i) Cly® Ey, —>
(excess)

OR

Account for the following :

(i) The acidic strength decreases in the order HC/ > H,S > PH,

(ii) Tendency to form pentahalides decreases down the group in group 15 of

the periodic table.
Complete the following chemical equations :
(i) P,+S0,Cl,—>
(i) XeF,+H,0—>
(iii) I, + HNO; —

(conc)

a5t =wemn st
(i) NF; U suyerdt aifie & safs NC/, 3ar =& & 1 =041 ?

(ii) IR EesAl B & TR oty i & 1 =972
fefeafaa aumtees g ot gol w9 § fofed

i) C+H,S0, (§%)—>

(ii) P,+NaOH+H,0 —>

(i) CL,+ —

FZ
(=)

11 [P.T.O.
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(b)

56/1/1

www.edugrooss.com

Frrfetfiae 1 R THeEd
(i) ol g sger F1FA € - HC/> H,S > PH,

(i) & 15 H G=ree 599 S g o F FE 9 o ved e E

frrferfaa TRt T 1 gt Fif
() P, +S0,Cl,—s
(i) XeF,+H,0—>

(i) 1, +HNO, —>
(§7%)

12




